S0 5 AR A

EI T < 2T HF S — IR Bk

Tt ARGARRRTE

PERIX 7 s —IRARERER (—REEB)
HREREH .

AUBREFfH] 3 047 MH

2Bk K 4




TEaE  (OAEGERB ()

ROFEZH L,

2
3 s 6
1) 2°= 3

@ 2x{1+(2-5)x2}

(1) 4x’yx(—zxy)? ZEHERL,
) (3a+2b\4a—5b) %EEE L,

JZ

W % ﬁ‘@'ft‘t‘}: J: o

(1) 2KFBR 32°45x—2=0 %A,
2) P<O<IS° i, &=t tanﬂz% BT 0 DERRD I,

@) 2EDENZAZFRRFIRITSLE, 2EOBERE L THIMEERD X,

4) HEOHIZEWNT, ARG AABCOELTH S, A

x DIEZRD X, g
E

E(O)i%&j:, %i@ 1 E @E‘Zt(’ji?ﬂan.% 1 Z’PH FﬁﬁY/EJJIE L/.f: ﬁ‘%‘{& (OC) }E;&
EROEESHRTH D, 14 DL F 16 Sy

1) BEROIEE X ailind 2

) FEROEE R, 18 ~ 20 16

20 ~ 22 6

(2) HHEEZRD X,
22 ~ 24 2
(3) 18CHRT o7 B EIE D% e, : 52




ol RIE (— )
ABGAERB (3F)

i B S5 M)

K&

/R

(1)

12

(2)

38

(1)

—4x>yt

(2)

12a?% — 7ab — 10b?

(3)

V6 +2 22 +V6

1 1
) xX=—-2,— FEx= —, -2 2) 9 — 30°
3 3
1
(3) g (4) —
xr =23
6
(1) 2°C. (2 19°C

(3)

25%




